
ПРЕЗЕНТАЦИЯ 

•  ПУТЕШЕСТВИЕ В 
МАТЕМАТИЧЕСКОЕ 

КОРОЛЕВСТВО



–                      Какая из 
–                         фигур          
–                          лишняя?                         



 
•                                              1               8
•                                3
•                                          5    
•                              2
•   6         4          7
•                  9                       10



•   1 2 3 4 5 6 7 8 9 10



•    



    

•    4*5       9*9        5*6 
•    3*2       6*7        1*2



                                                    ПРОВЕРКА    
   4<5   9=9   5<6  
   3>2   6<7   1<2



                        



                                                                                                      

•ФИЗМИНУТКА



Задача



Решение
5-2-1=2(п)   
Ответ: 2 пирожка.       



Задача



Решение
4-2-2=0(г).
Ответ: 0 груш.



Задача
•Что тяжелее 1 
килограмм ваты 
или 1 килограмм 
гвоздей?



Итог занятия: 

1.Что понравилось? 

2.Какие были 
затруднения?



•                                            СПАСИБО 
•                                ЗА  
•                          ПОМОЩЬ! 

•  М О Л О Д Ц Ы!






